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QUESTION 1

Router A has an IP route entry with a purposeful CIDR block of 10001/32 and an outgoing interface of
GigabitEthernetO/0/1. Now add the following configuration: acd number 2000 rule 10 permit source1001.10#traffic
classifier test if-match acl 2000 # traffic behavior test remarkdscp cs3#traffic policy test classifier test behavior test#
interfaceGigabitftherneto/0/1 ip address 1001212552552550 traffic-policy test outbound#assuming router A received a
destination IP of 10001 Of packets, the following statements are correct: 

A. If the data packet source lIP address is 1001.2, it can be forwarded with the DSCP field marked CS3 

B. If the packet source IP address is 1001.1, it can be forwarded while the DSCP field is marked as CS3 

C. If the packet source IP address is 1001.2, it cannot be forwarded 

D. If the packet source IP address is 1001.2, it can be forwarded while the DSCP field remains unchanged 

Correct Answer: BD 

 

QUESTION 2

The following description of IGMPv1 and IGMPv2 is correct?( Multiple select). 

A. IGMPv2 message types include member departure packets 

B. IGMPv2 does not support specific group queries 

C. IGMPv1 supports universal group queries 

D. The IGMPv1 message type does not contain members leaving the packet AD 

Correct Answer: ACD 

 

QUESTION 3

Level-1-2IS transmits Level-2LSP to the Level-1 area if the AT location 1 in Level-2LSP is delivered It means that the
Level-1lS in the area can be accessed to the outer area through Level-1-2IlS 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

The following statement about isis a route leak of ISIS is correct? 

A. Route leaks for ISIS must be deployed on Level-1 routers 
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B. Route disclosure for ISIS is turned on by default. 

C. Route disclosure for ISIS avoids suboptimal paths. 

D. Route leaks for ISIS can only be applied to IPv4 environments. 

Correct Answer: C 

 

QUESTION 5

In EPIM-SM, the following description of the PIM Join message is correct? 

A. PIM Join messages are sent every 3 minutes, and status 

B. PIM Join messages for the multicast tree are only sent when the multicast tree is first established 

C. The PIM Join message is sent every 60 seconds to refresh the status of the upstream router mroute for the multicast
tree 

D. The upstream router sends a PIM Join acknowledgment in response to each PIM Join message received from the
downstream router 

Correct Answer: C 
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